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Nevriudlwied / ZOOLOGY
(UL HmID <y kide a.HEQ / Tamil & English Version)

&Tew jarey : 3.00 wanfl GHirb ] [ Qorgs wHiGQuamser : 70
Time Allowed : 3.00 Hours ] [ Maximum Marks : 70

Sifleyemrsst : (1) Amasg alaméseEsb sfwurs udeurd o drarsm 6T GUT LI & 61 G0
FlurTsgs Garererein. Faliudele GopulmiQer oamn
sasrenfliumerilib 2 1_anqwire QsfNeléseayLb.

20 Beod ez sOUY ov@oa wLEGCL asMusDHED
Sl &CaME HaughGL LweaTLBES CouamHbd. LLRSET cuamreausne
Quesléd LiwemL(Hése .

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.

L@&S! - I / PART -1
GOl : () Sjemensg ellamésEnsh el welEsab. 15x1=15
() Oasr@ssuul@drer wrHm elevLsealled Waeyd eHenLu
allenLenwg Caipes®hsss GO GLer e ulamenuyd Cerés
GT(PBALD. |
Note : (i) Answer all the questions.

(ii) Choose the most appropriate answer from the given four alternatives and
write the option code and the corresponding answer.
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1. prememi @umsmney Quéssdlenan sl QUUDSSID apTiCorer eTE?

(=1) CweGLrefen (=) Quevafler

(@) &G () eurGenmiirenend e
The hormone which regulates the circadian rhythm of our body is
(@) melatonin (b) melanin

(c)  oxytocin (d) vasopressin

2. pyrmsier siemn UGS :

(=1) Qenanray (<) gECrmiwer #r 8
(8) fafipru@ @ () afyremren BL&
The pointed portion of the elbow is :

(a) symphysis (b) acromion process
(€)  glenoid cavity (d) olecranon process

3.  @hg euensIuT (B smedl Lrésmer upBlw wpp efeurtisener Qamair(Hemeng)?

(<=1) CrGermdlrm.sL] (=) umstiurn_ Hs dneyCsred
(®) QaniGufwib () smeurb

Which taxonomic aid gives comprehensive information about a taxon ?
(a) Monograph (b) Taxonomic key

(¢) Herbarium (d) Flora

4. g,eumrrafr aursEusamss CsmbolsHESaLD.

<) B&Gamgen, ymslyssmas sram_samiqw CurasLl Gum@BerTELo.

(cggb)éﬂcﬁla;@a;rrﬁau wHnw SvduaGrreald CQsmfie srits seurs
Crmigerm@Lb.

(@) eTbosemudior whpmib &reCHMI Lrse Mugsre gouUBHmg.

(/) BlGwraflur eremug meoruireser afridiu Hlevawrsib.

Find the incorrect statement :

(a) Nicotine is the stimulant of smoking.

(b) Silicosis and asbestosis are occupational respiratory disorders.

(c) Emphysema and Tuberculosis are caused by bacteria.

(d) Pneumonia is the inflammation of lungs.
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samanL UG uery Qsram edearur () euens Gambuiland

(<=1) Qevganmien (<) i Lsm (@) Grbwor () A&
The game breed noted for its pugnacity is : '

(@) Leghorn (b) Chittagong (c) Brahma (d) Aseel
QUITBHSES

(1) erevGavr GlFeser (i) cuaneTHENT LI(Lp&EHET

(2) &L Gecger (i) GLoede)L edlaeT

(3) @C‘Smrr@l;rrr@@rﬂabr' | (i) @.@mmﬁ(ﬁurrgrr

(4) afCGurasweier (iv) SLenLLi(p&aaT

(1) ()-ii), @-v), G-, @-0)
(cay) (1)-Giv), (2)-(i), B)-G), (@)-(i)
(@) (1)-G), Q)-Gi), B)-); @-0)
() (-G, @)-(), G-, @-G)

Match :

(1) Lasso cells (i) Mollusca

(2) Flame cells (ii), Annelida

(3) Chlorocruorin (iij) Ctenophora
(4) Haemocyanin (iv) Platyhelminthes
(@ (-G, @-v), @) @-0)

b)  ()-Gv), @), @0, ¢)-E)

© (V-G @-(), G- 4@

) @), @-v) G- (4)-(i)

AmBiT 2 HuUTEESEE Eonhs Siere) HisComa @ o Qe :
(1) @remwan fédlsar () wilwr Bédlsar

(@) oy Cuorafwr béslser () whssidle Béser

Animals requiring minimum ‘amount of water to
' ureotelic

produce urine are :

(a) chemotelic (b)

(c) ammonotelic (d) uricotelic
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sOATSD - s@emb QurgBreTSHa Hemer
(<=,) Slafleveveter o emm

8. Gl (Herengl.
(=1) sm& Wig LI ser

(&) eu 5@ seos
The opening of the hepato-pancreatic duct is guarded by :
(b) Glisson’'s capsule

(d) Crypts of Leiberkuhn

(FF) eSluises Lolg L6

(a) Gastric rugae

(c) Sphincter of Oddi

9. GemgliL QL gms sflurer @enewryLer Hlyliys :
) yssss Cseayerser -
(ii) - Gger
(=1) Benser ; @rsss@LOs6T Hlrbw Henruire
(<=1) @(HeuUTLPEASET ; CLPF&HEEGLPED
(@) elgpavav ; Lsss mepuire
(/) wewTL(p&seT ; eraflu aflFeue
Fill in the blanks with correct matching pair :
(i) Bookgills - ;
(ii) - Scorpions
(a) Fishes ; Vascularised lungs
(b) Amphibians ; Tracheal tubes
(c) Limulus ; Book lungs

(d) Earthworms ; Simple diffusion

10. ypGsemar Coenrs wrHmLd CBTS :
(<) eaGuev (<) ewaGoen

(@) @ emeurGLev
The enzyme which converts nectar to honey :

(b) zymase
(d) amylase

(/) 0Gaven

(a) lipase

(c) invertase
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11, mGwld er@ubysar ahléd sramiiu@ampan?
(=) dlmdlow (<) sor
Pneumatic bones are found in

(a) Whale (b) Shark ()

(&) souever (F) ypm
Frog (d) Pigeon
12, uradlgmen Geuaflali b CLrGuordym. .9 (PET) euCaen 2 LGursliLbhigieug)

(21) Sissdlaitiy sflisar (<) sflireise pGarGLTlIL ST
(@) up 2asTé &5liser (%) BQwmed
Positron Emission Tomography (PET) uses :

(@) IR waves (b) Radio isotopes

(¢ UV rays (d) Ultrasound

13. waflg epenemudan ruLEd SHmLid ewwnrs QewauHHng?

(1) umemen (<) se@mTOEL
(@) evapliGurgemDe (/) Smepener
Which part of human brain acts as satiety centre ?

(a) Pons (b) Thalamus
(c) Hypothalamus (d) Cerebellum

14. euliIGrmerrevl (Haer, CusGrmGughser wpmib wrel QFbaser < dwuameu

sranliL(heug) :

(<1) &7ind er9Seiwid (=) GHSOsQIDLS He
(®) efiCureri Ha (/) <igGumev Ha
Fibroblasts, macrophages and mast cells are present in

(a) Glandular epithelium (b) Cartilage tissue

(c)  Areolar tissue (d) Adipose tissue
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15. &mbm (A) : @Qrsss Haliuanssaie o s, ewl CLrerargfur,
MNGUrGarbaer HMID SisL1G6TTe auenaL 19 erared Gumen Glged
BlaTemmiLiLS6T SrentliLedldame.

&MewTd (R) : iflsoman afCorgCermimar Q&TeaTaUFET (PELD Geanau

Qersaflen <y deadlmer erhLisdpamar oifsMsgé Cerardaman.
(<=
(<=
(@) (A) - seum <pemmed (R) - &

) (A) - &l HOID (R) - ;' @penmed (R) - (A) -eow sflwrs efarésailaame.

(
) (A) - &fl wpmId (R) - af; (R) - (A) -evw eNeTéEGEDS).
( :

(/) (A) - &fl whmibd (R) - seum

Assertion (A) : The red blood corpuscles are devoid of nucleus, mitochondria,
ribosomes and endoplasmic reticulum.

Reason (R) : The absence of these organelles maximises the oxygen carrying
capacity by accommodating more haemoglobin.

(@) (A) is correct and (R) is also correct but (R) does not explain (A).
(b) (A) is correct and (R) is also cofrect; (R) explains (A).

(c) (A) is wrong but (R) is correct.

(d) (A) is correct and (R) is wrong.

L@&F - 11/ PART - II
GOy : sTeneuGuenid Lm) elemasEns@ ellenLwelldseyb. ellerm ereor 24-8yg,
sL_Lmuwns efenwafléseLd. 6x2=1

Note : Answer any six questions. Question No. 24 is compulsory.

16. 2 LpEY e margh sa@uulla SglumLuie o a@reio 2 LHeL
o enL_wieneuser ereuelmm LAfsslLBSlemmen?

How are eucoelomates classified based on the mode of formation of coelom ?

17. QenGerm Crmi - GO euenys.
Write a note on GERD.




18.

19.

20.

21.

22.

23.

24.

g 3437 (NS)

ELSHCHTUEGT LILIGTSmET auflenelL(HS5GI5.

Enumerate the uses of stethoscope.

QapenGa cuameray Sarsdlen Siiglien e Qp.LTTensEand sl ILHSS.

Classify nephrons based on the length of Henle's loop.

F&ETH(@HENL LI Q euETEN BTG &S&EnET glHATEETHD Qmﬁmmu@ésa;aﬂe&@gbg;}
CoumuB 5515

Bring out the differences between granulocytes and agranulocytes.

4D Gepurl® Gpm, QarHiEGHSECETMS Gpm <, & w el H Ol p & et
ameul_L e @epur® wHmid Grmdn SiPlGHlsmar erpgis.

Mention the deficiency and symptoms of 4D-syndrome and Pernicious Anaemia.

G HSSIeD Lpd G QIS

Give a note on Physiotherapy.

_oyammevGLTGLOMEED GTGTDITED GTETenT ?

What are anastomoses ?

§l<.'9c§58566ﬂL_6U['D@63T QaTESdaman eT(RSIS.

@) <prder BSMS i) ensGardanmaen
(i) pLesAy B (iv) <revamilen
[dentify the phylum for the following:

(i) Saccoglossus

(i) Apple snail

(iii) Star fish (iv) Ascaris
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L@&S - 11/ PART - I1I

Goloy : sTeneuGIgn) LD M eflanmésensE elenwealldsa b, efanT eram 33-8@

SLLmuwons eflenl_wiaflgsayib. 6x3=18

Note : Answer any six questions, Question No. 33 is compulsory.

2

26.

27.

28.

29.

GubLUTTET kg fassefe fApliy gHSl I ser Qras@psdaL G
éi@muuﬁ‘éﬂu_mem wHmD QewafHurear Genarriiysamer erpLBSSIS @M.
SHelauensrar Clse) shdlliLsamar eflemses. '

Most of the animal tissues have specialised junctions to provide structural and functional
links. Explain the types of cell junctions.

(M LETNFaT, LiHEE) Cerfhsrerauid sLbs 15 g am@sams Ceuma Celig
QUBEIDIT.  kIEGaTer glel QUImHLSET SleUmLIL &6UTE LUTas®L LTSS
seauresglan uamflsmeryd 50558 Faurs waTLgdHar WPeEW Lanismar
SUHESG ULligwllL (& Fans.

A man has been working in a cotton industry for the past 15 years. The dust in the
industry affected his respiratory tract thereby hindering respiratory functions. List out
the primary functions of the respiratory system to him.

B QFweler LILID auerhgl UTERE®mas GhlésaL.

Draw a neat labelled sketch of a neuron.

() euwsTaGciseT Slg&sy Chrieumitu@elg eren?
() evGUTCymgd SMULIT GrenmITed 6Teme?
(i) Why do old people fall sick often ?

(i) What is sporodic goitre ?

seumarsafla, urdefl Caipum gemenid erelaumy ST EUBSsLILESHDE?
How is sexual dimorphism exhibited in frogs ?
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Cur eflenarey HMID anrdGLar efeerey LibM GHILIL elers.
State Bohr effect and Haldane effect. :

30.

31.  bmTY&e el o (HeUTEEL efer erayibLsallen eUanGEHET WTeal?
What are the different types of rib bones that form the rib cage ?

32. 20 wreveu Fanaielw Ldrafl @iflefwued sanar’ fés wails sfle|bés
LDGO’OT.I_@.)g;ﬂédT wrdflew Qsiifmosrr. AaamaaaupilpE ouiflwe
QETHEHMET L IIMETD S@T( DeuHEE 2560 Ceaimum?

(=1) Ay spsrdsors CalssiuLe -

(<) Ampi sPss@EsTar Hleflue Cuw -

(@) Coemeunwnn QUL samar 2 L aldlmpg GaeiGCuppizeD -

A student designed a model of the human excretory system for his school science
exhibition. Can you help him in finding the biological terms for the following :

(a) Temporary storage of urine
(b) Scientific term for urination
(c) Removal of unwanted substances from the body.

33. BrEQT Bror @O GO QuuA@L e muller TS EHTLTGLWD.
S|D(PEIDENILI SHEPLITEITLD G eUEIUMNISESE,D.
Naja Naja is an example for a particular type of nomenclature. Identify and define the
nomenclature type.
L@ - IV/PART - IV
@iy oieneSgl aTTESEHSED eflenL_wafl&&a] L.
Note . Answer all the questions.

5x5=25

34. ('coq) o el @& SS e Quilw QsrEduiaeL QUITgGITET LIGHTL|&EETL
U igwadl(Hs.
{60605
(<) erdSadlus Hessafian gCsaibd BHS) Qaeursamens sah FHswald
FHUOD SlaFemeu rHEGIEST_(HLGT FDIS.
(a) List the general characteristics of the largest phylum of Kingdom Animalia.
OR

(b) Name any five important functions of ep
example that explains the function.

ithelial tissue and provide at least one

[ Sliys / Turn over
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35.

36.

37.

(=) @ Merellen apmiGuoren Lafsmar clardsse|.
VG |
(<) w®SsI0 Byeim Asrfonl usms o LCLITELLESSID SLULLLLL
CLrGurdyms9ulies HSGIe (PSELSFHIeULD CTeime ?
(a)  Discuss the functions of adrenalin hormone.
OR

(b) What is the clinical significance of the 'medic‘al ﬁhaging technology employing
computed tomography ?

(1) B 2 WA LT cueriliy 58U SRS Gz memmlwl G]g,rrg@éog;n'_u@rr@?m
Quwpeper perenwaamer ahsgsamn Qbs QsTHomRLUSHDG
efflliyemriey arHL@SsIs.

SHEVE0F)
() elseursd wHmd CevellFFaurasd e peoLCumid Hapesemer
auflensliuhsd ernd@s.

(@) Aquaponics is a recentl
hydroponics.
advantages.

y evolved technique combining aquaculture and
Create an awareness about this technique by explaining its

OR

(b) Comp'are the sequential events that take place during inspiration and expiration.

(1) ymmreller, @Lpe se(H Qe eiolianL Q)

safleuran Lirsih GIET IR
UL SgIL 6 alemd .

VNS
(<) SmeLade sésev erarifasn 2 Sl uy e Bew L Qump Ceudluldwa
LrHmBiEmar auflensliLi(és)s.
(a) Describe the quill feather of pigeon with a neat labelleq sketch
OR
(b) Enumerate the chemical changes that take place wj
in the small intestine. f ith the help of Succus entericus



38.
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(<) evgauim ppbdlaer erdlfQamaTEnLd Clumgieume urgiysenar edeufléseb.

3|6V
(<) @& LHYLD Falbl CFOSERGSTE GeupUTEMET 6T(PSIS-

the common problems encountered by SCUBA divers.
OR

(a) Explain

(b) Explain the differences between Rod cells and Cone cells.

-00o0-



